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1. BEERON
(1) BEINEE
ZRMARE FREARS 10,000 10,000 10,000 20,000
SZHeE FERESE 240,000 240,000 240,000 480,000
S ES 1,350,000 1,350,000 1,350,000 2,700,000
SHEBE 150,000 150,000 150,000
SZmARE 900,000 900,000 900,000
SZMHEME 3,355,000 3,355,000 145,000 3,500,000
SZHHES 200,000 200,000 200,000
HEUR A 50,000 50,000 50,000
F MR ET 6,255,000 6,255,000 1,745,000 8,000,000
(2)BEER
EE3 7,255,000 7,255,000 7,255,000
% B R 816,000 816,000 816,000
aRF L 714,000 714,000 714,000
REE 225,000 225,000 225,000
RERBE 800,000 800,000 800,000
BISEWE 600,000 600,000 600,000
BUREIE 0 0 0
HENSRERE 200,000 200,000 200,000
HERE 1,850,000 1,850,000 1,850,000
LEREREEE 1,250,000 1,250,000 1,250,000
SEKEE 10,000 10,000 10,000
g 230,000 230,000 230,000
RERE 250,000 250,000 250,000
ARAE 0 0 0
Hge 200,000 200,000 200,000
X BEE 10,000 10,000 10,000
e 100,000 100,000 100,000
EEE 1,745,000 1,745,000
% B RN 204,000 204,000
HEHFY 306,000 306,000
REE 100,000 100,000
&R BE 350,000 350,000
BISEWRE 300,000 300,000
HEHSHERE 100,000 100,000
HERE 100,000 100,000
SEKEE 5,000 5,000
aiER 100,000 100,000
RERE 30,000 30,000
ARAE 0 0
EEiEd 100,000 100,000
HE 50,000 50,000
BEXERAR 7,255,000 7,255,000 1,745,000 9,000,000
STB 2 % SRR L R A A 1,000,000 A 1,000,000 0 A 1,000,000
EAMEFmERSE 0 0 0
HEZEFmERSE
BEAMm ST ma RS
SHEmE S 0 0 0 0
LR R R A 1,000,000 A 1,000,000 0 A 1,000,000
2. RENEHOE
(1) #BE SR
(2)RENER 0
L — AR IEBRBAFE I RUAR 0 0 0 0
— R ERMENE RS 2,949,732 2,949,732 2,949,732
— S ECRBAEE AR R = 2,949,732 2,949,732 2,949,732
I 357 ERMERROE 0
HEERERES HRXS) 500,000 500,000
HEEREBRES (YUIRT—) 500,000 500,000
L HAYE E IE R BA FE 1S R AR A 1,000,000 A 1,000,000 A 1,000,000
EEERMENE RS 2,600,000 2,600,000 2,600,000
B ERMESRES 1,600,000 1,600,000 1,600,000
I EREESRES 4,549,732 4,549,732 4,549,732




